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TABEL NOMINAL CU CANDIDATI IN ASTEPTARE

|[Nrcrt|Legit |Optiuni |Note |Medie |Admis la |Obs.|S]|
|===—- | === |-m7 - |- |===—=——= | === [====1-1
|1 |LSC000741 |CRP,RU |Bac LLR=8.35,GBac=9.60,MBAC=9.16 |8.85 | | | 1]
|2 |LSC000620 |CRP,MD,MDE |Bac LLR=8.50,IBac=9.15,MBAC=8.68 |18.76 | | |1
|3 |LSC000804 |CRP |Bac LLR=8.20,IBac=9.60,MBAC=8.65 |18.76 | | |1
|4 |LSC000474 |RU |Bac LLR=7.90,ABac=10.00,MBAC=9.05 |8.74 | | |1
|5 |LSC000343 |CRP |Bac LLR=8.25,MBac=9.45,MBAC=8.48 18.73 | | |1
| 6 |LSC000841 |CRP,RU,MD |Bac LLR=8.55,GBac=9.00,MBAC=8.18 18.73 | | | 1]
|7 |LSC000742 |CRP,MD |Bac LLR=8.25,MBac=9.40,MBAC=8.85 18.71 | | 1]
|8 |LSC000349 |MD, AS,RU,CRP, SO |Bac LLR=8.10,IBac=9.60,MBAC=8.85 18.70 | | |1
|9 |LSC000109 |MDE |Bac LLR=8.60,GBac=8.85,MBAC=8.71 18.70 | | | 1]
|10 |LSC000027 |CRP,SO,MD |Bac LLR=8.00,LABac=9.60,MBAC=9.01 |8.64 | | |1
|11 |LSC000827 |RU |Bac LLR=8.30,IBac=9.15,MBAC=8.81 |8.64 | | |1
|12 |LSC000078 |RU, SO, CRP |Bac LLR=8.00,LABac=9.60,MBAC=8.63 |8.64 | | | 1]
|13 |LSC000205 |SO,RU,AS |Bac LLR=8.10,SBac=9.40,MBAC=8.93 |8.62 | | |1
|14 |LSC000125 |CRP |Bac LLR=7.95,GBac=9.60,MBAC=8.90 |8.61 | | |1
|15 |LSC000562 |CRP,RU,MD, SO,MDE, AS |Bac LLR=8.35,IBac=8.95,MBAC=8.66 |8.59 | | | 1]
|16 |LSC000437 |MD,RU, SO,AS, CRP |Bac LLR=7.90,LABac=9.60,MBAC=8.71 |8.58 | | |1
|17 |LSC000793 |AS,RU,CRP, SO |Bac LLR=8.60,BBac=8.50,MBAC=8.11 |8.56 | | |1
|18 |LSC000847 |AS |Bac LLR=7.85,LABac=9.60,MBAC=8.71 |8.55 | | |1
|19 |LSC000688 |AS,RU,CRP, SO |Bac LLR=7.70,IBac=9.80,MBAC=8.76 |8.54 | | | 1]
|20 |LSC000779 |AS,RU |Bac LLR=8.30,GBac=8.90,MBAC=8.18 |8.54 | | |1
|21 |LSC000055 |AS,RU,CRP |Bac LLR=7.65,LABac=9.80,MBAC=8.93 |8.51 | | | 1]
|22 |LSC000214 |CRP,AS,RU |Bac LLR=9.50,ABac=7.00,MBAC=7.51 18.50 | | |1
|23 |LSC000669 |CRP,RU,AS |Bac LLR=8.50,GBac=8.45,MBAC=7.73 |8.48 | | |1
|24 |LSC000082 |MD,MDE, CRP |Bac LLR=8.70,IBac=8.10,MBAC=8.23 |8.46 | | |1
|25 |LSC000918 |SO,AS |Bac LLR=7.40,IBac=10.00,MBAC=8.98 |8.44 | | | 1]
|26 |LSC000242 |AS,CRP |Bac LLR=7.35,IBac=10.00,MBAC=9.05 |8.41 | | |1
|27 |LSC000029 |MD,CRP |Bac LLR=7.60,LABac=9.45,MBAC=8.83 |8.34 | | |1
|28 |LSC000505 |MD, MDE |Bac LLR=7.75,GBac=9.15,MBAC=8.41 18.31 | | | 1]
129 |LSC000413 |MD, $MD |Bac LLR=7.35,IBac=9.70,MBAC=8.45 18.29 | | |1
|30 |LSC000246 |RU,AS,SO,SRU |Bac LLR=7.35,IBac=9.65,MBAC=8.50 18.27 | | | 1]
|31 |LSC000546 |RU, SRU |Bac LLR=8.45,GBac=8.00,MBAC=8.06 18.27 | | |1
|32 |LSC000726 |RU,CRP, SO |Bac LLR=8.00,IBac=8.65,MBAC=8.41 |18.26 | | |1
|33 |LSC000351 |SO,AS,RU,CRP,MD |Bac LLR=7.55,LABac=9.30,MBAC=8.50 18.25 | | | 1]
|34 |LSC000337 |AS,RU |Bac LLR=7.95,SBac=8.70,MBAC=7.88 |8.25 | | |1
|35 |LSC000087 |MD,MDE |Bac LLR=7.60,GBac=9.20,MBAC=8.38 |18.24 | | |1
|36 |LSC000558 |AS,RU |Bac LLR=7.70,MBac=9.05,MBAC=7.85 |8.24 | | | 1]
|37 |LSC000544 |SO,AS,RU, CRP |Bac LLR=7.70,LABac=8.95,MBAC=8.65 18.20 | | |1
|38 |LSC000267 |MD |Bac LLR=7.35,LABac=9.45,MBAC=8.58 18.19 | | |1
|39 |LSC000610 |MD,MDE |Bac LLR=7.70,LABac=8.90,MBAC=7.88 |8.18 | | | 1]
|40 |LSC000733 |RU,AS,CRP,MD, SO |Bac LLR=7.50,GBac=9.15,MBAC=8.43 |8.16 | | |1
|41 |LSC000852 |RU |Bac LLR=8.45,GBac=7.70,MBAC=7.93 |8.15 | | |1
|42 |LSC000271 |RU,AS,MD,MDE, CRP, SO |Bac LLR=8.25,MBac=8.00,MBAC=7.83 |8.15 | | | 1]
|43 |LSC000687 |RU,CRP,MD,AS, SO |Bac LLR=6.90,IBac=10.00,MBAC=8.45 |8.14 | | | 1]
|44 |LSC000447 |MD, $MD |Bac LLR=7.70,LABac=8.80,MBAC=8.30 |18.14 | | |1
|45 |LSC000247 |SRU |Bac LLR=8.05,LABac=8.25,MBAC=8.00 18.13 | | |1
|46 |LSC000377 |RU,AS,SO,CRP,MD |Bac LLR=7.20,IBac=9.45,MBAC=8.56 18.10 | | |1



|[Nrcrt|Legit |Optiuni |Note |Medie |Admis la |Obs.|S]|
|—=—=—- | === | === |- | === | === [====1-1
|47 |LSC000842 |AS,RU,CRP, SO |Bac LLR=7.55,GBac=8.90,MBAC=8.43 18.09 | | |1
|48 |LSC000289 |AS |Bac LLR=7.75,IBac=8.55,MBAC=7.90 18.07 | | |1
|49 |LSC000360 |SO,AS,RU,CRP |Bac LLR=7.75,GBac=8.55,MBAC=7.81 18.07 | | |1
|50 |LSC000019 |RU, $SRU |Bac LLR=7.60,GBac=8.75,MBAC=8.13 |8.06 | | |1
|51 |LSC000732 |RU |Bac LLR=7.50,LABac=8.90,MBAC=8.01 |18.06 | | |1
|52 |LSC000896 |MD, SMD |Bac LLR=8.10,BBac=8.00,MBAC=7.95 |8.06 | | |1
|53 |LSC000724 |AS, SO |Bac LLR=8.05,GBac=8.05,MBAC=7.43 |8.05 | | |1
|54 |LSC000520 |RU,CRP,AS, SRU |Bac LLR=7.40,IBac=9.00,MBAC=8.10 |8.04 | | |1
|55 |LSC000714 |CRP |Bac LLR=8.50,GBac=7.35,MBAC=7.66 18.04 | | |1
|56 |LSC000693 |RU, SRU |Bac LLR=6.85,BBac=9.80,MBAC=8.33 18.03 | | |1
|57 |LSC000491 |MD, $MD |Bac LLR=7.05,IBac=9.35,MBAC=8.00 |7.97 | | |1
|58 |LSC000040 |CRP,MD,MDE,RU, SO,AS |Bac LLR=7.45,GBac=8.75,MBAC=7.61 |7.97 | | |1
|59 |LSC000124 |$MD,MD, SRU |Bac LLR=7.10,LABac=9.25,MBAC=8.25 |7.96 | | |1
| 60 |LSC000718 |CRP |Bac LLR=7.70,MBac=8.35,MBAC=7.85 |7.96 | | |1
|61 |LSC000674 |RU,MDE,MD,CRP |Bac LLR=7.45,IBac=8.70,MBAC=8.16 |7.95 | | |1
|62 |LSC000716 |$SCRP,CRP |Bac LLR=7.50,LABac=8.60,MBAC=7.83 |7.94 | | |1
|63 |LSC000514 |$MD |Bac LLR=7.90,GBac=8.00,MBAC=7.58 |7.94 | | |1
| 64 |LSC000797 |SO,AS |Bac LLR=7.55,LABac=8.40,MBAC=7.08 |7.89 | | |1
|65 |LSC000749 |RU,SO,AS,MD,CRP,MDE, SRU |Bac LLR=7.00,BBac=9.20,MBAC=8.15 |7.88 | | | 1]
|66 |LSC000745 |CRP, $CRP,RU, SRU |Bac LLR=7.15,IBac=8.85,MBAC=8.05 |7.83 | | |1
|67 |LSC000211 |CRP,MD,RU, SCRP, SMD, SRU |Bac LLR=7.55,IBac=8.25,MBAC=7.86 |7.83 | | |1
|68 |LSC000021 |AS |Bac LLR=7.00,LABac=9.00,MBAC=7.23 |7.80 | | | 1]
|69 |LSC000611 |RU, $RU, CRP, $SCRP, SO, MD |Bac LLR=6.95,IBac=9.00,MBAC=8.20 | 7.77 | | |1
| 70 |LSC000579 |RU |Bac LLR=7.55,GBac=8.10,MBAC=7.75 | 7.77 | | |1
|71 |LSC000341 |AS |Bac LLR=7.75,IBac=7.75,MBAC=8.33 | 7.75 | | | 1]
|72 |LSC000448 |MDE,MD |Bac LLR=6.95,MBac=8.95,MBAC=8.11 |7.75 | | |1
173 |LSC000875 |MDE,MD, $MDT, $MD |Bac LLR=7.15,MBac=8.60,MBAC=7.45 17.73 | | 1]
|74 |LSC000570 |MDE, $MDT, MD, $MD |Bac LLR=6.80,LABac=9.10,MBAC=7.80 [7.72 | | 1]
|75 |LSC000290 |AS, $SAS |Bac LLR=7.30,IBac=8.35,MBAC=7.63 |7.72 | | |1
|76 |LSC000207 |SCRP |Bac LLR=6.95,IBac=8.85,MBAC=7.98 |7.71 | | |1
|77 |LSC000163 |MDE, $MDT, MD, $MD |Bac LLR=8.00,ABac=7.20,MBAC=7.70 |7.68 | | 1]
|78 |LSC000649 |CRP, $CRP,RU,MD, $RU, $MD |Bac LLR=8.10,GBac=7.05,MBAC=7.56 |7.68 | | |1
|79 |LSC000876 |S$SMD, SRU, SCRP |Bac LLR=6.65,GBac=9.20,MBAC=7.71 |7.67 | | |1
|80 |LsC218021 |$AS, $SCRP, $SMD, SRU, SMDT |Bac LLR=8.40,BBac=6.55,MBAC=7.05 |7.66 | | MR | 1]
|81 |LSC000056 |MD, $MD, MDE, $SMDT |Bac LLR=7.45,BBac=7.95,MBAC=7.33 |7.65 | | |1
|82 |LSC000005 |RU, SRU,AS, SAS |Bac LLR=7.25,GBac=8.25,MBAC=7.25 |7.65 | | |1
183 |LSC000538 |MD,MDE, $SMD, $MDT |Bac LLR=7.60,IBac=7.70,MBAC=7.61 |7.64 | | [1]
|84 |LSC000704 |CRP, $SCRP |Bac LLR=7.30,IBac=8.15,MBAC=7.53 |7.64 | | |1
|85 |LSC000493 |AS,$AS,CRP, SCRP,RU, SRU |Bac LLR=7.60,GBac=7.70,MBAC=7.28 |7.64 | | |1
|86 |LSC000284 |CRP, $CRP,AS, $SAS |Bac LLR=6.35,GBac=9.55,MBAC=8.35 |7.63 | | |1
|87 |LSC000617 |RU, $RU, CRP, SCRP,AS, SAS |Bac LLR=7.25,MBac=8.20,MBAC=7.78 |7.63 | | |1
|88 |LSC000041 |S$SAS,$SO, SCRP, SRU |Bac LLR=6.85,MBac=8.80,MBAC=7.70 |7.63 | | |1
|89 |LSC000486 |RU,AS, SO, SRU |Bac LLR=6.95,LABac=8.65,MBAC=7.68 |7.63 | | |1
|90 |LSC000212 |MD, $MD, CRP, $CRP,MDE, $SMDT Bac LLR=7.55,IBac=7.75,MBAC=7.61 |7.63 | | |1
|91 |LSC000738 |AS,MD,RU,CRP, $SAS, SMD, $SRU, SCRP, SO|Bac LLR=6.65,GBac=9.10,MBAC=7.35 |7.63 | | |1
|92 |LSC000107 |AS, $AS, SO, $SO |Bac LLR=7.95,ABac=7.15,MBAC=7.33 |7.63 | | | 1]
193 |LSC000294 |MD, $MD, MDE, $MDT |Bac LLR=6.35,LABac=9.50,MBAC=7.68 |7.61 | | |1
| 94 |LSC000065 |MD, $SMD, CRP, SCRP |Bac LLR=7.45,IBac=7.85,MBAC=7.66 |7.61 | | | 1]
|95 |LSC000723 |AS, SAS |Bac LLR=7.75,LABac=7.40,MBAC=7.46 |7.61 | | [1]
|96 |LSC000690 |CRP,SO,RU,MDE,MD,AS, SCRP, $S0, $SRU|Bac LLR=7.25,GBac=8.15,MBAC=7.35 |7.61 | | |1
|97 |LSC000458 |AS,SO,CRP,RU |Bac LLR=7.20,GBac=8.20,MBAC=7.76 |7.60 | | | 1]
|98 |LSC000912 |MD,MDE, SO,CRP, $MD, $MDT, SCRP, $SO |Bac LLR=8.00,Chm=7.00,MBAC=7.75 |7.60 | | | 1]
199 |LSC000756 |MD,CRP,RU, SO, $MD, SCRP |Bac LLR=8.00,GBac=7.00,MBAC=7.50 |7.60 | | |1
|100 |LSC000869 |SRU, SCRP, SMD, SAS, $SO |Bac LLR=7.40,IBac=7.90,MBAC=7.16 |7.60 | | | 1]
|101 |LSC000863 |RU, $RU, CRP, SCRP, SO, $SO, AS, SAS |Bac LLR=7.80,MBac=7.30,MBAC=7.15 |7.60 | | | 1]
|102 |LSC000713 |RU,MD,MDE,CRP,AS, SO, $RU, $MD, $MDT |Bac LLR=6.45,IBac=9.30,MBAC=8.15 |7.59 | | |1
|103 |LSC000782 |S$SMD, SMDT, SCRP, $SAS, SRU, $SO |Bac LLR=7.25,BBac=8.10,MBAC=7.36 |7.59 | | | 1]
|104 |LSC000399 |AS, $AS,MD, $MD |Bac LLR=7.05,LABac=8.40,MBAC=6.81 |7.59 | | |1
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|77 |-
.80, IBac=7.25,MBAC=8.13
.70, IBac=8.90,MBAC=7.88
.40,GBac=7.85,MBAC=7.58
.10,LABac=8.30,MBAC=7.41
.80,MBac=7.25,MBAC=7.18
.10,LABac=9.80,MBAC=7.05
.85,ABac=7.15,MBAC=7.36
.35,LABac=7.90,MBAC=6.93
.65,LABac=7.45,MBAC=6.76
.90, LABac=8.55,MBAC=7.46
.65,LABac=7.40,MBAC=6.78
.65,IBac=8.85,MBAC=8.03
.35,IBac=9.30,MBAC=7.60
.90, LABac=8.45,MBAC=7.56
.00,ABac=8.
.60,IBRac=7.
.80,MBac=7.
.20,GBac=6.
.45,GBac=9.
.45,GBac=9.
.35,IBac=7.
.20,MBac=9.
.05,GBRac=8.
.60, LABac=8.80,MBAC=8.00
.10,MBac=8.05,MBAC=7.05
.25,LABac=9.30,MBAC=7.55
.00,GBac=9.65,MBAC=8.40
.50,IBac=7.40,MBAC=7.41
.10, LABac=8.00,MBAC=7.18
.45,IBac=8.95,MBAC=8.03
.75,MBac=8.50,MBAC=6.98
.50,MBac=8.85,MBAC=7.41
.00, LABRac=8.10,MBAC=7.26
.50,LABac=8.80,MBAC=7.66
.60, LABac=8.65,MBAC=7.33
.20,IBac=7.75,MBAC=7.15
.50,BBac=7.30,MBAC=6.91
.00,GBac=8.00,MBAC=8.00
.00,LABac=9.50,MBAC=7.65
.00,Chm=8.00,MBAC=7.50
.00,Inf=8.00,MBAC=7.50
.00,Chm=8.00,MBAC=7.50
.90, IBac=8.15,MBAC=7.38
.10, IBac=7.85,MBAC=7.10
.00,GBac=7.95,MBAC=7.50
.20,LABac=7.65,MBAC=7.31
.65,MBac=8.45,MBAC=7.46
.40,LABac=7.30,MBAC=7.23
.70,GBac=8.35,MBAC=7.23
.90,GBac=6.55,MBAC=6.58
.00,MBac=6.40,MBAC=6.51
.05,BBac=7.80,MBAC=7.13
.45,MBac=7.20,MBAC=6.88
.50, LABac=8.60,MBAC=7.85
.40,GBac=7.25,MBAC=6.60
.55,MBac=8.50,MBAC=7.68
.55,GBac=7.00,MBAC=7.01
.00, IBac=9.30,MBAC=8.18

|Optiuni |Note
|RU, SRU, CRP, SCRP, AS, SAS |Bac
|RU, MD, CRP, $SRU, $MD, SCRP |Bac

| CRP, $CRP, MD, $MD, RU, $RU, SO, $SO, MD | Bac
| SO, AS,RU, CRP,MD, $S0O, $SAS, $RU, $CRP | Bac
|RU, SO, AS, CRP,MD, $S0O, $RU, $AS, SCRP | Bac
|MD, MDE, $MD, $MDT, CRP, RU, $RU, SCRP, |Bac

|MD, $SMD |Bac
|RU, SO, CRP, $RU |Bac
|AS, $AS, RU, SRU, SO, $SO, CRP, SCRP |Bac
| SO, CRP, AS, RU, $S0, $RU, $AS |Bac
|AS, $AS, CRP, SCRP |Bac
|MDE, $MDT, MD, $MD, CRP |Bac

|MDE, AS, MD, SO, CRP, RU, $MDT, $S0, $CR|Bac
|AS, $AS, RU, CRP, SO, MD |Bac
|RU, $RU, MD, $MD, CRP, SCRP, AS, $AS, SO|Bac

| CRP, RU, $CRP, SRU |Bac
|MD, $MD, CRP, $SCRP |Bac
| $MD, $50 |Bac
| CRP, RU, MD, SO, $SCRP, $SRU, $SO |Bac
| SMD, $RU, $50, SAS, SCRP |Bac
|MD, $MD, MDE,, $MDT, SO, $S0, CRP, $CRP |Bac

|RU, $RU, CRP, $SCRP, SO, MDE, MD, $SO, $M|Bac
| $MD, $CRP, $RU |Bac
|RU, MDE, MD, CRP, AS, SO, SRU, $MDT, $MD | Bac

| $SMD, $MDT, SCRP |Bac
|RU, SRU, AS, SAS, CRP, SCRP |Bac
|AS, SAS |Bac
| MDE, MD, CRP, RU, SO, AS |Bac
|RU, CRP, MD, SO, $RU, $SCRP, $MD, $SO |Bac
|AS, SAS, CRP, $CRP, RU, $SRU |Bac
|AS,RU, CRP, SAS, $SRU, SCRP |Bac
| SO, RU, $S0, SRU |Bac
|MD, CRP, $MD, $SCRP |Bac
|MD, CRP, AS, $MD, $CRP, $SAS |Bac

|RU, $SRU, MD, $MD, AS, $AS, MDE, SMDT, CR | Bac

|RU, AS, CRP, SO, MD, MDE, $SRU, $AS, SCRP |Bac
| $MD, MD, $MDT, MDE, $RU, RU, CRP, $CRP |Bac
| SRU |Bac
|CRP, SCRP |Bac
| $SMD, SCRP, $SO |Bac

|MD, $MD, SO, $SO, RU, $RU, AS, $AS, CRP, |Bac
| SO, $SO |Bac
| SO, RU, $S0O, SRU |Bac
|CRP, AS, RU, SCRP, $AS, SRU |Bac

|RU, SO, AS,CRP,MD, MDE, $RU, $S0, $SAS, |Bac
|AS, SAS,RU, SRU, CRP, SCRP, MD, $MD |Bac
|RU, CRP | Bac
| SO, $50, MDE, $MDT, MD, $MD, AS, $AS |Bac
| $CRP, CRP, $S0O, SO, $AS, AS, $SRU, RU |Bac

|RU, $RU, CRP, $CRP, SO, $S0,AS, SAS,MD|Bac
|MDE, MD, $MDT, $MD, RU, SO, CRP, AS, $SO|Bac

|AS, SAS |Bac
| SO, $SO, MD, $MD, SMDT |Bac
|MD, $SMD, CRP, $CRP, RU, $SRU, SO, $SO | Bac

| CRP, SCRP,MD, $SMD, RU, $RU, SO, $SO, AS | Bac
| SMD |Bac
| SMDT, MDE, MD, $MD, CRP, $SCRP |Bac
|RU, SRU, CRP |Bac

30, MBAC=7.30
40,MBAC=7.21
10, MBAC=7.05
50, MBAC=6.56
10, MBAC=7.80
10, MBAC=7.46
75,MBAC=6.81
45,MBAC=8.25
15, MBAC=7.50

PR RRPRPRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRE 0



|[Nrcrt|Legit |Optiuni |Note |Medie |Admis la |Obs.|S]|
|=—=—- | === |77 |- |===———= | === [====1-1
|163 |LSC218002 |AS-RR,AS, $AS,RU, SRU, SCRP |Bac LLR=6.20,IBac=9.00,MBAC=7.95 |7.32 | |IRR 1]
|164 |LSC000892 |MD, $MD |Bac LLR=5.80,IBac=9.60,MBAC=7.95 |7.32 | | |1
|165 |LSC000802 |RU,AS,SO,CRP,MD,MDE, $SO, $SRU, SAS, |Bac LLR=6.40,GBac=8.70,MBAC=7.26 |7.32 | | |1
|166 |LSC000468 |SO,CRP,RU,AS,MD,MDE |Bac LLR=6.20,GBac=9.00,MBAC=7.18 |7.32 | | | 1]
|167 |LSC000916 |S$CRP |Bac LLR=6.20,Inf=9.00,MBAC=7.10 |7.32 | | |1
|168 |LSC000240 |CRP,RU,SO,AS,MD, SCRP, $RU, $S0O, $AS|Bac LLR=6.80,GBac=8.10,MBAC=6.71 |7.32 | | |1
|169 |LSC000432 |RU, $RU,AS,CRP, SO, $AS, $CRP, $50 |Bac LLR=7.05,SBac=7.70,MBAC=6.61 |7.31 | | | 1]
|170 |LSC000740 |SO,$S0O,CRP, $CRP,RU, $RU,AS, $AS,MD|Bac LLR=6.40, SBac=8.65,MBAC=7.81 |7.30 | | |1
|171 |LSC000371 |RU, SRU |Bac LLR=6.80,GBac=8.05,MBAC=6.95 |7.30 | | |1
|172 |LSC000578 |S$RU, $CRP, $SO, $SMD |Bac LLR=7.75,BBac=6.60,MBAC=6.78 |7.29 | | |1
|173 |LSC000597 |AS, $AS,RU, $SRU,CRP, SCRP, SO, $SO |Bac LLR=6.15,GBac=9.00,MBAC=6.75 |7.29 | | |1
|174 |LSC000697 |CRP,SO,AS, SCRP, $S0, SAS, RU, SRU |Bac LLR=6.70,MBac=8.15,MBAC=7.48 |7.28 | | |1
|175 |LSC000890 |$SO, $CRP, SRU |Bac LLR=6.15,GBac=8.95,MBAC=6.95 |7.27 | | | 1]
|176 |LSC000801 |RU,AS,MD,CRP,SO,SRU |Bac LLR=6.00,LABac=9.15,MBAC=7.68 |7.26 | | |1
1177 |LSC000462 |RU, $SRU,CRP, SCRP,MD |Bac LLR=7.10,LABac=7.50,MBAC=7.05 |7.26 | | |1
|178 |LSC000860 |S$SCRP, $MD,CRP,MD, $SRU, SO, RU, $S0O |Bac LLR=5.95,LABac=9.20,MBAC=7.91 |7.25 | | | 1]
|179 |LSC000145 |CRP,S$CRP,MD, SMD |Bac LLR=6.25,LABac=8.75,MBAC=7.71 |7.25 | | |1
1180 |LSC218019 |AS-RR, SO-RR |Bac LLR=7.45,GBac=6.95,MBAC=6.53 |7.25 | |IRR  |1]
|181 |LSC000900 |MDE, $MDT,MD, $MD, SO, $SO, RU, $RU,AS|Bac LLR=5.40,LABac=10.00,MBAC=7.45 |7.24 | | | 1]
|182 |LSC000060 |$MD,MD |Bac LLR=7.20,MBac=7.30,MBAC=6.95 |7.24 | | |1
1183 |LSC000179 |RU,CRP, $RU, SCRP,MD, $SMD, MDE, SMDT, |Bac LLR=7.90,ABac=6.25,MBAC=6.46 |7.24 | | 11
|184 |LSC000769 |MDE, $SMDT,MD, $SMD, CRP, SCRP,RU, $SRU, |Bac LLR=6.25,IBac=8.70,MBAC=7.48 |7.23 | | | 1]
/185 |LSC000791 |S$CRP, $SO, SRU |Bac LLR=6.90,LABac=7.70,MBAC=6.73 |7.22 | | |1
|186 |LSC000376 |CRP |Bac LLR=7.00,MBac=7.50,MBAC=6.88 |7.20 | | |1
|187 |LSC000859 |AS,SO,CRP |Bac LLR=6.45,BBac=8.30,MBAC=7.25 |7.19 | | | 1]
|188 |LSC000719 |CRP,S$CRP |Bac LLR=6.55,BBac=8.15,MBAC=7.06 |7.19 | | |1
1189 |LSC000637 |SO,$S0,RU, SRU, CRP |Bac LLR=5.95,GBac=9.00,MBAC=7.83 | 7.17 | | |1
1190 |LSC000498 |MD, $MD |Bac LLR=6.05,IBac=8.85,MBAC=7.76 |7.17 | | | 1]
|191 |LSC000428 |CRP,RU, SO, S$CRP, $RU, $S0O,MD, $MD, AS|Bac LLR=5.85,IBac=9.15,MBAC=7.73 |7.17 | | |1
[192 |LSC000857 |S$SMD, $MDT,MD,MDE |Bac LLR=6.50,GBac=8.15,MBAC=7.38 |7.16 | | |1
|193 |LSC000419 |MD, $MD,RU, $SRU,AS, $AS, SO, $350 |Bac LLR=6.60,BBac=8.00,MBAC=7.15 |7.16 | | |1
/194 |LSC000536 |MD,RU,CRP,SO,AS,MDE, $SMD, $SRU, $SCRP|Bac LLR=5.80, LABac=9.20,MBAC=7.08 |7.16 | | |1
1195 |LSC000408 |MDE, SMDT |Bac LLR=5.85,MBac=9.10,MBAC=7.90 |7.15 | | |1
|196 |LSC000663 |S$SCRP, SMDT, SMD |Bac LLR=6.45,MBac=8.20,MBAC=7.05 |7.15 | | | 1]
|197 |LSC000706 |SO,RU,CRP,AS,MD |Bac LLR=7.05,PBac=7.30,MBAC=6.78 |7.15 | | |1
1198 |LSC000711 |CRP,$CRP, SO, $S0O,RU, SRU, AS, $AS,MD|Bac LLR=7.95,MBac=5.95,MBAC=6.58 |7.15 | | |1
1199 |LSC000759 |MDE, SMDT |Bac LLR=6.20,PBac=8.55,MBAC=7.73 |7.14 | | | 1]
|200 |LSC000068 |CRP |Bac LLR=6.40,GBac=8.25,MBAC=7.31 |7.14 | | |1
1201 |LSC000393 |AS,RU,CRP, SAS, SRU, SCRP |Bac LLR=7.30,MBac=6.90,MBAC=6.86 |7.14 | | |1
|202 |LSC000615 |RU, $RU,AS, $AS,CRP, SCRP, SO, $50 |Bac LLR=7.00,GBac=7.30,MBAC=6.86 |7.12 | | | 1]
|203 |LSC000256 |MDE, $MDT, $CRP, $SRU, AS, $SO |Bac LLR=7.40,LABac=6.70,MBAC=6.75 |7.12 | | |1
|204 |LSC000469 |MDE, $MDT,MD, $MD |Bac LLR=5.85,LABac=9.00,MBAC=6.81 17.11 | | 1]
1205 |LSC000589 |AS,RU,CRP, SO, $SAS, SRU, SCRP |Bac LLR=6.30,LABac=8.30,MBAC=7.46 |7.10 | | | 1]
|206 |LSC000554 |CRP,RU, SO, $SO, $RU, SCRP |Bac LLR=8.45,MBac=5.09,MBAC=6.16 |7.10 | | |1
1207 |LSC000881 |S$SMDT, $MD, SCRP, $SO |Bac LLR=6.35,BBac=8.20,MBAC=7.45 |7.09 | | |1
|208 |LSC000540 |CRP,RU,AS,SO,$CRP, SRU, $AS |Bac LLR=7.60,MBac=6.30,MBAC=6.66 |7.08 | | |1
|209 |LSC000010 |AS,RU,S$SCRP,SO,MDE,CRP,MD, $AS, SRU|Bac LLR=7.70,IBac=6.15,MBAC=6.58 |7.08 | | |1
1210 |LsCc000143 |MD,MDE, SO,RU,AS,CRP, $MD, SMDT, $SO|Bac LLR=6.15,GBac=8.45,MBAC=6.88 |7.07 | | | 1]
|211 |LsSC000148 |MD, $MD,CRP,RU, SCRP, SRU |Bac LLR=5.40,MBac=9.55,MBAC=7.95 |7.06 | | |1
|212 |LSC000431 |RU,AS,CRP,MDE,MD, SO, $RU, $AS, $SCRP|Bac LLR=6.20,GBac=8.35,MBAC=7.438 |7.06 | | |1
|213 |LSC000720 |AS,S$AS,SO,S$SO |Bac LLR=6.45,MBac=7.95,MBAC=6.85 |7.05 | | | 1]
|214 |LSC000603 |S$SCRP, $MD, SMDT, SRU, $SO |Bac LLR=7.20,LABac=6.75,MBAC=6.80 |7.02 | | |1
|215 |LSC000423 |AS, $SAS,CRP, SCRP |Bac LLR=5.75,LABac=8.90,MBAC=7.60 |7.01 | | |1
|216 |LSC000767 |MD,SMD |Bac LLR=6.20,LABac=8.20,MBAC=7.15 |7.00 | | |1
|217 |LSC000825 |SO,$S0O,RU, $SRU,AS, $SAS |Bac LLR=6.00,IBac=8.50,MBAC=7.00 |7.00 | | |1
|218 |LSC000612 |RU, $RU,CRP, SO, $SCRP, $SO |Bac LLR=5.75,IBac=8.85,MBAC=7.53 16.99 | | |1
|219 |LSC000506 |$MD, $MDT |Bac LLR=8.05,Chm=5.35,MBAC=6.20 16.97 | | |1
1220 |LSC000189 |RU,CRP,AS,MD, SO, SRU, SCRP, SAS, SMD|Bac LLR=5.20,LABac=9.60,MBAC=7.30 |6.96 | | | 1]



|[Nrcrt|Legit |Optiuni |Note |Medie |Admis la |Obs.|S]|
|==—=—- | === |-mm= = |- |—=———= | === [====1-1
1221 |LSC000744 |AS, $AS |Bac LLR=6.40,GBac=7.80,MBAC=7.16 |6.96 | | | 1]
|222 |LSC218023 |SO-RR,AS-RR,MD,AS,RU,MDE, CRP, SO, |Bac LLR=6.50, IBac=7.60,MBAC=6.98 |6.94 | |[RR  |1]
1223 |LSC000831 |AS,SAS, SCRP,CRP |Bac LLR=6.10,LABac=8.20,MBAC=6.76 |6.94 | | |1
|224 |LSC218006 |$SO,$RU, $AS, $SCRP, SMD |Bac LLR=7.00,BBac=6.85,MBAC=6.28 16.94 | IRX |1]
|225 |LSC000429 |MD,MDE, $MD, $MDT, CRP, $SCRP,RU, $RU |Bac LLR=7.55,IBac=6.00,MBAC=6.25 16.93 | | |1
1226 |LSC000583 |AS, SAS |Bac LLR=5.80,LABac=8.60,MBAC=7.40 |6.92 | | |1
|227 |LSC000495 |RU,CRP, SO, $RU, SCRP, $SO |Bac LLR=6.25,IBac=7.90,MBAC=7.21 |6.91 | | | 1]
|228 |LSC000829 |AS, $SAS |Bac LLR=7.15,GBac=6.55,MBAC=6.80 |6.91 | | |1
1229 |LSC000204 |S$AS,AS, SCRP,CRP, SRU, RU, $MD,MD, $M|Bac LLR=6.20,IBac=7.95,MBAC=7.48 16.90 | | |1
|230 |LSC000702 |RU,SO,CRP,MD, $RU, $S0O, $CRP, $SMD |Bac LLR=5.95,IBac=8.30,MBAC=6.95 |16.89 | | |1
|231 |LSC000739 |AS,SO,RU,CRP, $AS, $S0O, $SRU, $SCRP |Bac LLR=5.75,BBac=8.60,MBAC=6.68 |16.89 | | |1
1232 |LSC000760 |SO,RU,CRP,AS,MD, $SO, SRU |Bac LLR=6.25,GBac=7.85,MBAC=6.46 |6.89 | | |1
|233 |LSC000543 |RU, $RU, AS, $AS, CRP, SCRP, SO, $S0O,MD|Bac LLR=6.65,IBac=7.25,MBAC=6.36 16.89 | | |1
|234 |LSC000883 |$AS, SRU, $SO |Bac LLR=5.70,MBac=8.65,MBAC=7.18 |6.88 | | |1
1235 |LSC000528 |RU, SRU,CRP, SCRP,AS, SAS |Bac LLR=5.80,BBac=8.50,MBAC=7.13 |6.88 | | |1
|236 |LSC000098 |AS, $AS,CRP, $CRP, SO, $S0O,RU, $RU,MD|Bac LLR=6.00,GBac=8.20,MBAC=6.58 |16.88 | | |1
|237 |LSC000310 |CRP,RU,AS, SAS |Bac LLR=6.80,MBac=7.00,MBAC=6.31 |6.88 | | |1
1238 |LSC000161 |RU,SRU,MDE, $SMDT, SO, $SO |Bac LLR=6.75,Chm=7.05,MBAC=6.56 |6.87 | | |1
|239 |LSC000138 |$CRP, $MD, $SO, $RU, CRP,MD, SO, RU |Bac LLR=6.55,LABac=7.30,MBAC=6.95 |6.85 | | |1
|240 |LSC000137 |RU,CRP,AS |Bac LLR=6.50,GBac=7.35,MBAC=6.91 |6.84 | | |1
1241 |LSC000833 |RU, SRU, CRP, SCRP, SO, $S0O,MD, $MD, AS|Bac LLR=6.00,MBac=8.10,MBAC=6.81 |6.84 | | |1
|242 |LsC000889 |MD, $MD, CRP, SCRP,RU, SRU, SO, $S0,AS|Bac LLR=5.45,GBRac=8.90,MBAC=7.11 |6.83 | | | 1]
|243 |LSC000680 |CRP,S$CRP,MD, $MD, SO, $SO |Bac LLR=6.45,LABac=7.40,MBAC=6.43 |16.83 | | |1
|244 |LSC000803 |MDE, $SMDT,MD, $MD |Bac LLR=5.95,MBac=8.10,MBAC=7.05 |6.81 | | |1
|245 |LSC000227 |RU, $SRU, CRP, SCRP |Bac LLR=6.60,BBac=7.10,MBAC=6.48 |6.80 | | | 1]
|246 |LSC000175 |MDE,$MDT,MD, $MD, SO, $SO, RU, $RU, CR|Bac LLR=5.80, LABac=8.30,MBAC=6.36 16.80 | | |1
1247 |LSC000444 |MD, $SMD,MDE, SMDT, AS, SAS,RU, SRU, SO|Bac LLR=6.25,PBac=7.60,MBAC=7.05 |6.79 | | |1
|248 |LSC000592 |MDE, $MDT |Bac LLR=6.05,GBac=7.85,MBAC=6.71 16.77 | | |1
|249 |LSC218017 |AS-DZ,S$CRP, $SO, $RU,AS, SO, CRP |Bac LLR=6.30,LABac=7.45,MBAC=6.56 |16.76 | Dz | 1]
1250 |LSC000219 |MD, $MD, RU, SRU, CRP, SCRP |Bac LLR=5.90,LABac=8.00,MBAC=7.13 |6.74 | | |1
|251 |LSC000517 |$RU, $SCRP |Bac LLR=6.80,SBac=6.65,MBAC=6.45 |16.74 | | |1
|252 |LSC000758 |$S0O, $RU, $CRP, SAS, SMD |Bac LLR=7.20,MBac=6.05,MBAC=6.18 |6.74 | | |1
|253 |LSC000817 |MD,MDE, $SMD, SMDT |Bac LLR=6.05,BBac=7.75,MBAC=7.03 16.73 | | |1
| 254 |LSC000664 |$SO, $MD, $SRU, $MDT, $SAS, SO,MD,MDE, R|Bac LLR=6.35,MBac=7.30,MBAC=6.91 |6.73 | | | 1]
|255 |LSC000655 |$MDT, $SMD, SCRP |Bac LLR=7.15,MBac=6.10,MBAC=6.25 16.73 | | |1
1256 |LSC000819 |S$SMD, SCRP, $SRU,MD, RU, CRP, $S0O, SAS,A|Bac LLR=6.40,BBac=7.20,MBAC=6.56 |6.72 | | |1
[257 |LSC000762 |MD,SMD,CRP, $CRP,RU, $RU |Bac LLR=6.70,IBac=6.75,MBAC=6.22 16.72 | | 1]
|258 |LSC000776 |S$SCRP, $SAS, $MD, $SO |Bac LLR=5.05,GBac=9.20,MBAC=7.13 |6.71 | | |1
1259 |LSC000063 |MD,RU, SO,CRP,AS |Bac LLR=5.95,LABac=7.85,MBAC=6.26 |6.71 | | |1
1260 |LSC000878 |CRP,AS,RU, SCRP, SAS, SRU |Bac LLR=6.90,PBac=6.40,MBAC=6.21 |6.70 | | | 1]
|261 |LSC000608 |MDE,$MDT,MD, SMD, RU, $RU,CRP, $SCRP |Bac LLR=6.90,MBac=6.40,MBAC=6.10 16.70 | | |1
1262 |LSC000800 |CRP, SCRP |Bac LLR=5.15,IBac=8.95,MBAC=7.10 |6.67 | | |1
|263 |LSC000167 |SO,CRP,MD,MDE,RU,AS, $S0, $CRP, $SMD|Bac LLR=6.50,GBac=6.90,MBAC=6.43 |16.66 | | |1
|264 |LSC000165 |AS, $AS,CRP, $SCRP,MD, $MD, SO, $SO,RU|Bac LLR=6.50, LABac=6.90,MBAC=6.25 |16.66 | | |1
| 265 |LSC000156 |RU, $RU, SO, $SO |Bac LLR=5.25,IBac=8.75,MBAC=7.33 |6.65 | | |1
|266 |LSC000599 |MDE, $MDT, SO |Bac LLR=6.30,Chm=7.15,MBAC=6.85 |6.64 | | |1
|267 |LSC000911 |MD, $MD, SO, $SO |Bac LLR=5.00,GBac=9.10,MBAC=6.40 |6.64 | | |1
|268 |LSC000853 |RU, $RU, CRP, $MD,MD, SO, AS, $SO, SCRP|Bac LLR=7.20,GBac=5.80,MBAC=6.16 |6.64 | | | 1]
|269 |LSC000894 |MD, $SMD, CRP |Bac LLR=6.35,IBac=7.05,MBAC=7.43 |16.63 | | |1
|270 |LSC000773 |AS,SO,RU,CRP,MD, $SAS, $S0, $RU, $CRP|Bac LLR=5.85,GBac=7.80,MBAC=7.41 |16.63 | | |1
1271 |LSC000788 |SO,AS,CRP,RU, $SO, SAS, SRU, SCRP |Bac LLR=6.85,MBac=6.30,MBAC=6.15 |6.63 | | | 1]
1272 |LSC000737 |MD,AS, $AS, $MD, RU, SRU, CRP, SCRP |Bac LLR=7.00,MBac=6.05,MBAC=6.08 |6.62 | | | 1]
|273 |LSC000787 |RU,AS,S$SAS, SCRP,CRP, $SRU |Bac LLR=6.05,LABac=7.45,MBAC=6.56 |6.61 | | |1
1274 |LSC000303 |S$SMD, SRU, SAS, SCRP |Bac LLR=6.25,GBac=7.15,MBAC=6.16 |6.61 | | | 1]
|275 |LSC000324 |S$SMD |Bac LLR=5.70,LABac=7.95,MBAC=6.71 16.60 | | |1
|276 |LSC000533 |SO,CRP |Bac LLR=6.25,GBac=7.10,MBAC=6.38 |16.59 | | |1
1277 |LSC000421 |CRP,AS,RU, SAS, SCRP, SRU |Bac LLR=5.20,GBac=8.65,MBAC=6.81 |6.58 | | | 1]
|278 |LSC000845 |$RU, $CRP, SAS |Bac LLR=5.70,BBac=7.90,MBAC=6.58 |16.58 | | |1



|[Nrcrt|Legit |Optiuni |Note |Medie |Admis la |Obs.|S]|
|==——- | === |77 |- |—==———= | === [====1-1
|279 |LsC218012 |MD, $MD, SMDT |Bac LLR=6.05,GBac=7.35,MBAC=6.31 |16.57 | |[UE |1]
|280 |LSC000818 |SO,$SO |Bac LLR=5.70,LABac=7.85,MBAC=6.91 |16.56 | | |1
|281 |LSC000173 |$MD, $SMDT,MD, MDE, RU, SRU, SCRP, CRP, |Bac LLR=5.40,SBac=8.30,MBAC=6.38 |6.56 | | |1
|282 |LSC000837 |CRP, $CRP,AS, $AS,RU, SRU |Bac LLR=6.15,BBac=7.15,MBAC=6.56 |6.55 | | |1
|283 |LSC000728 |RU, $RU, CRP, $SCRP, SO, $S0,AS, SAS |Bac LLR=6.00,GBac=7.35,MBAC=6.21 |6.54 | | |1
|284 |LSC000260 |S$SMD,SCRP,SMDT, SRU |Bac LLR=5.15,IBac=8.60,MBAC=7.57 16.53 | | |1
1285 |LSC000172 |S$SCRP, SRU, $SO, SMD, SMDT, SAS |Bac LLR=5.55,GBac=8.00,MBAC=7.08 |6.53 | | | 1]
|286 |LSC000169 |$SO,$CRP, SRU, SAS |Bac LLR=6.25,GBac=6.95,MBAC=6.30 |16.53 | | |1
1287 |LSCc000171 |SO,RU,CRP,AS,MD, $SO, SRU, SAS, SCRP|Bac LLR=6.10,SBac=7.15,MBAC=6.28 |6.52 | | |1
1288 |LSC000904 |sSO, $SO,MD, $SMD, MDE, $MDT, AS, CRP,RU|Bac LLR=6.80,ABRac=6.10,MBAC=6.06 |6.52 | | | 1]
|289 |LSC000665 |CRP,MDE,MD,SO,RU,AS, $CRP,$MD, $SMD|Bac LLR=5.35,MBac=8.25,MBAC=7.15 |6.51 | | |1
1290 |LSC000743 |$S0, S0, SRU, RU, SCRP, CRP |Bac LLR=6.40,IBac=6.65,MBAC=6.03 |6.50 | | |1
|291 |LSC000531 |SO, $S0O,RU, $RU, CRP, SCRP |Bac LLR=5.35,PBac=8.20,MBAC=7.06 16.49 | | |1
|292 |LSC000774 |$MDT, $MD, $SCRP, $S0O, SRU, SAS |Bac LLR=6.60,GBac=6.34,MBAC=6.31 16.49 | | |1
1293 |LSC000460 |MD, $SMD,MDE, SMDT, CRP, SCRP |Bac LLR=5.75,LABac=7.60,MBAC=6.31 |6.49 | | |1
|294 |LSC000855 |SO,RU |Bac LLR=5.50,LABac=7.95,MBAC=6.80 |16.48 | | |1
|295 |LSC000772 |MD, $MD,MDE, $MDT, RU, $SRU |Bac LLR=6.20,Chm=6.90,MBAC=6.63 |16.48 | | |1
1296 |LSC000300 |SCRP, $SO, $SMD, SRU, SAS |Bac LLR=5.60,GBac=7.75,MBAC=6.70 |6.46 | | |1
|297 |LSC000913 |AS, $AS, SO, $S0 |Bac LLR=6.80,GBac=5.95,MBAC=6.51 |16.46 | | |1
|298 |LSC000257 |RU, $SRU |Bac LLR=6.20,MBac=6.85,MBAC=6.51 |6.46 | | |1
1299 |LSC000557 |AS,RU,CRP,SO,MD, $SAS, SRU, SCRP, $SO|Bac LLR=5.55,MBac=7.80,MBAC=6.95 |6.45 | | |1
300 |LsSC000814 |MD,MDE, CRP,AS,RU, SO |Bac LLR=6.25,LABac=6.75,MBAC=6.23 |6.45 | | | 1]
|301 |LSC000404 |SO,$SO |Bac LLR=6.00,MBac=7.10,MBAC=6.60 |6.44 | | |1
1302 |LSC000757 |AS |Bac LLR=6.20,LABac=6.80,MBAC=6.05 |6.44 | | |1
|303 |LSC000799 |AS, $AS,CRP,MD,RU |Bac LLR=6.05,IBac=6.95,MBAC=6.56 |6.41 | | |1
|304 |LSC000798 |CRP,S$CRP |Bac LLR=6.00,GBac=7.00,MBAC=6.50 16.40 | | |1
1305 |Lsc000128 |MD,RU,SO,AS,CRP, $SMD, SRU, $SO, $SAS, |Bac LLR=6.05,PBac=6.90,MBAC=6.36 |6.39 | | |1
|306 |LSC000678 |MD,CRP, $MD,MDE |Bac LLR=5.10,MBac=8.30,MBAC=6.98 |16.38 | | |1
|307 |LSC000472 |CRP,S$CRP |Bac LLR=6.10,ABac=6.80,MBAC=6.46 |16.38 | | |1
1308 |LSC000209 |SCRP, SRU, SAS |Bac LLR=6.50,IBac=6.20,MBAC=6.11 |6.38 | | |1
309 |LSC000783 |MD, $MD, CRP, SCRP,MDE, SMDT |Bac LLR=5.30,GBac=7.95,MBAC=6.66 |6.36 | | | 1]
|310 |LSC000457 |SO, $S0O,RU, SRU, CRP, $CRP |Bac LLR=6.20,GBac=6.60,MBAC=6.08 |16.36 | | |1
|311 |LSC000229 |AS,$SAS, S$SO |Bac LLR=5.85,BBac=7.10,MBAC=6.00 |6.35 | | |1
|312 |LSC000906 |AS,SO,CRP,RU,MD, $AS, $S0, $CRP, SRU|Bac LLR=6.30,MBac=6.40,MBAC=6.10 |6.34 | | |1
|313 |LSC000770 |$S0O,$RU,SCRP, SAS, $SMD, SMDT |Bac LLR=6.00,BBac=6.85,MBAC=6.10 |6.34 | | |1
1314 |LSC000915 |SCRP, $MD, SMDT, $SRU, SAS, CRP,MD, MDE |Bac LLR=5.05,LABac=8.25,MBAC=6.10 |6.33 | | |1
|315 |LSC000463 |CRP, $SCRP,MD, $MD, RU, $RU |Bac LLR=6.10,GBac=6.65,MBAC=6.28 |6.32 | | | 1]
|316 |LSC000577 |RU, $RU,CRP, $CRP MD, $MD, SO, $SO, MDIBac LLR=5.15,PBac=8.05,MBAC=6.63 |6.31 | | |1
|317 |LSC000213 |MD, $SMD |Bac LLR=6.05,BBac=6.70,MBAC=6.28 16.31 | | |1
|318 |LSC000381 |AS,RU,$AS, SRU |Bac LLR=5.75,GBac=7.10,MBAC=6.15 16.29 | | | 1]
|319 |LSC000897 |$SO |Bac LLR=5.00,IBac=8.20,MBAC=6.51 |16.28 | | |1
1320 |LSC000766 |SCRP,SRU, SAS, $SO, SMD |Bac LLR=5.35,IBac=7.65,MBAC=6.00 |6.27 | | |1
|321 |LSC000666 |AS,RU,CRP,SO,MD,MDE, $AS, $SRU, SCRP|Bac LLR=5.00,GBac=8.15,MBAC=6.28 |6.26 | | | 1]
|322 |LSC000633 |$sS0O,S0,AS, $AS,RU, SRU, CRP, $CRP |Bac LLR=6.50,PBac=5.90,MBAC=6.06 |16.26 | | |1
1323 |LSC000035 |AS,SO, $AS, $SO,RU, SRU |Bac LLR=6.50,BBac=5.90,MBAC=6.03 |6.26 | | |1
|324 |LSC000722 |SO,RU,CRP,$SO, $SRU, SCRP, AS, $AS |Bac LLR=6.25,MBac=6.20,MBAC=6.05 16.23 | | |1
|325 |LSC000712 |RU, $RU, SO, $S0O,AS,CRP,MD, $AS, $CRP|Bac LLR=5.45,IBac=7.35,MBAC=6.70 |6.21 | | |1
|326 |LSC000015 |MD, $MD,MDE, SMDT, CRP, SCRP |Bac LLR=5.70,MBac=6.85,MBAC=6.23 |6.16 | | | 1]
|327 |LSC000009 |AS, $AS, SCRP |Bac LLR=5.00,LABac=7.90,MBAC=6.06 |16.16 | | |1
|328 |LSC000874 |S$RU,RU, $CRP,CRP, $50,S0, $AS,AS, $M|Bac LLR=5.60,MBac=6.95,MBAC=6.33 |6.14 | | |1
|329 |LSC000024 |S$AS |Bac LLR=5.50,GBac=7.10,MBAC=6.30 |6.14 | | |1
|330 |LSC000914 |CRP,RU,MD |Bac LLR=6.45,MBac=5.65,MBAC=7.18 |6.13 | | | 1]
|331 |LSC000368 |MD,MDE, $MD, $MDT, AS |Bac LLR=5.15,GBac=7.45,MBAC=6.33 |16.07 | | |1
1332 |LSC000755 |CRP,RU,MD, SO, SCRP, SRU, SMD, $SO |Bac LLR=5.65,MBac=6.65,MBAC=6.26 |6.05 | | | 1]
|333 |LSC000510 |$MD |Bac LLR=5.20,BBac=7.30,MBAC=6.35 16.04 | | |1
|334 |LSC000828 |S$CRP, $SO, $RU, $MD, RU, SO |Bac LLR=5.20,BBac=7.30,MBAC=6.00 |6.04 | | |1
|335 |LSC000777 |SO,RU, $SO, SRU |Bac LLR=5.60,MBac=6.60,MBAC=6.42 |6.00 | | | 1]
|336 |LSC000299 |$AS,SRU |Bac LLR=5.05,GBac=7.35,MBAC=6.10 15.97 | | |1



|[Nrcrt|Legit |Optiuni |Note |Medie |Admis la |Obs.|S]|
| —=——- [-=——m |- |-m77 | ===———= [ === [====1-1
|337 |LSC000450 |SO,AS,RU,CRP,MD, $S0, $AS, $MD, SRU, |Bac LLR=5.35,MBac=6.90,MBAC=6.08 15.97 | | 1]
|338 |LSC000673 |CRP,RU,AS, SO, $CRP, $RU, $AS, $SO |[Bac LLR=5.00,MBac=7.40,MBAC=6.16 |5.96 | | 1]
|339 |LSC000492 |CRP,$CRP,SO,$SO,MD, $SMD, AS, $SAS |Bac LLR=5.35,IBac=6.55,MBAC=6.05 |5.83 | | |11
|340 |LSC000751 |RU,AS,SO,CRP,MD, SCRP, $RU, $SAS, $SO|Bac LLR=5.00,LABac=7.05,MBAC=6.20 |5.82 | | 1]
|341 |LSC000882 |RU, $RU, CRP, $CRP,AS, $AS, SO, $SO |[Bac LLR=5.00,IBac=6.85,MBAC=6.18 |5.74 | | 1]
342 |LSC000313 |$s0O, $AS,SO,AS,RU,CRP,MD, SRU, SCRP|Bac LLR=5.95, IBac=5.30,MBAC=6.11 |5.69 | | |11
|343 |LSC000641 |AS,CRP,SO,MDE,RU, $MDT, $MD, $CRP, $|Bac LLR=5.00,IBac=6.60,MBAC=6.06 |5.64 | | |11
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